
24166 Speaker wall mount M 

24167 Speaker wall mount L

Information for use

Intended use 
 

The speaker wall mount is suitable to hold one speaker. The speaker wall mount can hold spea-
kers with depth of 150 to 220 mm in version M and 210 to 340 mm in version L. The speaker wall 
mount is designed to hold weights of up to 15 kg. This mount can be used to adjust the speaker 
infinitely both horizontally and in inclination. 
 
Foreseeable misapplication 
 

Do not open the clamping and adjustment screws while in use. An abrupt deposit of the loud-
speaker box may cause the overloading of supporting components, for a short period time. 
 
Assembly 
 

u It must be ensured that the speaker wall mount can be firmly attached to the wall. 
u ● The wall must have sufficient load-bearing capacity and should be able to hold any  
u ● additional forces. 
u ● Select the correct fastening material depending on the wall texture.  
u ● The means of attachment is important to safety as a component. If it fails, it can jeopardize  
u ● human health and life. 
u ● Pay attention to any pipes or electrical lines that may run through the area. 
u Follow the installation instructions for the fasteners used. 
u The installer must be physically and technically fit and familiar with the current local/state rules  
u and regulations as well as those of the institutions for statutory accident insurance and preven- 
u tion. Depending on the country where the speaker wall mount is used, country-specific stan- 
u dards and guidelines for the area of speakers must be followed and observed.   
u Before installation, the speaker wall mount must be checked to ensure that it is complete and  
u safe to operate. The speaker wall mount must be free of deformation, gouges, cracks, wear,  
u harm to threads, and corrosion. The model plate or other labeling must be legible. 
 
Safety measures 
 

Speaker systems must be secured against falling. There are two different types of installation to 
consider: 
 

u Movable installation: Things like “flown” speakers, installation on beams, and attachment  
u elements that can be loosened by hand require a second securing element on the speaker  
u system that works independently. 
u Fixed installation: In this kind of installation, there is no need for a second system to secure  
u the speakers if the attachment is sufficiently large, can only be loosened with tools, and is  
u secure against self-loosening. 
 

General  
 

u Placement of the speaker creates a pinch hazard between the wall mount and the speaker. 
u The adjustment options mean there is a pinch hazard between the components. 
u Always adjust the inclination without the speaker. 
u The installation height creates a risk of falling parts. 
u The user must be physically fit and appropriately skilled. 
u The use information is an element of the item and must be kept for the item’s entire life span  
u and passed along to any subsequent owner or user.



Assembly 
 

!Due to the adjustment possibility, there is a risk of crushing between them! 
 

1.) Unpack and check item for damage and completeness

Technical data

Material
Mount: steel, powder-coated, black 
Clamping screws: plastic, galvanized steel 
Protective caps, protective bumpers: plastic, black

Load capacity 15 kg

Dimensions 
and adjustment 
range

Wall plate:                  (W) 90 x (D) 41 x (H) 160 mm 
Overall dimensions:  
Version M:                  (W) 170 x (D) 257-325 x (H) 197 mm 
Version L:                   (B) 200 x (D) 317-445 x (H) 197 mm 
Tray plate: 
Version M:                  (W) 170 x (D) 150-220 x (H) 23 mm 
Version L:                   (W) 200 x (D) 210-340 x (H) 23 mm 
Swivel:                        108° 
Inclination:                  0° - 17° 

Packing (W) 375 x (D) 375 x (H) 75 mm

Weight Variante M   2.0 kg 
Variante L    2.3 kg  

Warranty 
 

No warranty is given for damage caused by: 
 

u Non-observance of the usage information and the "General safety and assembly instructions". 
u Unsuitable or improper use. 
u Incorrect installation or commissioning by the buyer or third parties. 
u Natural wear and tear. 
u Careless handling. 
u Improper modifications or repair work by the buyer and third parties. 
u Impact on components of foreign origin. 
u Use of non-original spare parts. 
 

Modifications, additions and conversions that may impair safety are prohibited without the manu-
facturer's approval.

1 Accessories bag: Protective cap M8,  
1 locking nut M8, washer with diameter  
1 8.4 mm, washer with square hole,  
1 carriage bolt M8 x 70 mm 
 
2 Accessories bag: 2x 4 rubber pads,  
2 protective cap M6, nut M8, clamping  
2 screw M8 x 48 mm, key,  
2 wrench size 10/13 
 
3 Wall plate with pivot joint 
 
4 Extension 



2.) Attach the wall plate and pivot joint to the extension.

!Due to the position of the loudspeaker box there is a danger from falling parts!

3.) Install the speaker wall mount on the wall.

1 Push the extension over the pivot  
1 joint. 
2 Use the carriage bolt and the washer  
2 with the square hole to connect the  
2 two parts. 
3 Place the washer over the bolt from  
3 the opposite side and screw into  
3 place with the locking nut. Press the  
3 verschrauben. Schutzkappe M8 auf  
3 M8 protective cap onto the locking nut. 
4 The M8 nut must be screwed onto the  
4 clamping screw. The clamping screw  
4 is screwed into the pivot joint from  
4 das Schwenkgelenk geschraubt. Die  
4 below. The nut serves as a locking nut. 
5 Place the eight rubber pads in the  
5 desired positions. 

4.) Placing, swiveling, and inclining the loudspeaker.

Loosen the clamping screw 1 and open the ex-
tension 2 far enough that the speaker 3 can be 
placed inside it.  
4 Close the extension and screw the clamping 
screw 5 so it is hand-tight. The contact points of 
the extension must be flat against the speaker. 
 

Note: Make certain to place the speaker in the 
center.

All four holes in the wall mount must be used to attach 
it. A suitable means of attachment must be chosen  
according to the specifics of the wall. 
Align the wall mount on the wall and mark the four at-
tachment holes on the wall. Drill into the wall according 
to the chosen means of attachment and screw the wall 
mount securely onto the wall.



Fault and troubleshooting

Fault/cause Check/Remedy

Mount is unstable and wobbly
● Check the screw connections between the wall and mount  
● plate, mount plate and pivot joint, and pivot joint and ex- 
● tension and tighten if necessary.

Loudspeaker does not stand  
securely

● Check to ensure that the speaker is placed inside the  
● clamping range of the mount. 
● Check to ensure that the speaker is placed up against the  
● contact points of the extension. 
● Check to ensure that both clamping mechanisms are  
● tightened securely

Maintenance, cleaning and repair 
 

u Maintenance: Check regularly to ensure screw connections of attachment parts and accesso- 
u ries are firmly seated. Annual visual inspection by skilled personnel and checks by an official  
u expert every four years are recommended. 
 
u Cleaning: Use a slightly damp cloth to clean the speaker wall mount.   
u Do not use chlorinated or abrasive cleaning agents. These will cause damage to the surface  
u and varnish. 
 
u Repair: Immediately repair any damage that occurs and stop using the speaker wall mount.  
u Maintenance work may only be carried out if you have the necessary knowledge. If any parts  
u are missing, contact the manufacturer at www.k-m.de. Here you can find a corresponding  
u spare parts list by entering the article number on the type label. Use this page to reorder  
u missing or damaged components.

  There is an additional clamping mecha- 
  nism on the bottom of the extension, next  
  to the clamping screw. This M8 nut 1 is  
  used as an additional means of securing  
  the speaker when it is permanently instal- 
  led. After the speaker is placed, it must be  
  screwed tight in all cases. After that, place  
  the M8 protective cap over the nut. The  
  clamping screw 2 can be used to adjust  
  the inclination in infinite variations. To do  
  this, loosen the locking nut, use the clam- 
  ping screw to set the desired position, and  
  then re-tighten the locking nut. To swivel, 

move the extension 3 with the speaker clamped in place to the desired position.



Storage, disposal 
 

Store the speaker wall mount in a dry place. 
 

Recycle disassembled components: 
 

u Scrape all components made of metal. 
 
u Recycle or reuse all plastic, paper, and cardboard components. 
 
u Sort all other components according to material composition and dispose of them  
u according to local regulations.

Contact information 
 

KÖNIG & MEYER GmbH & Co. KG  
 

Kiesweg 2 
97877 Wertheim 
Germany 
 

Phone: 09342/8060 
 

Fax: 09342/806-150 
 

E-Mail: contact@k-m.de 
 

Web: www.k-m.de 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
24166-000-55 / 24167-000-55  Rev.09 / Rev.08  03-80-916-00  12/23



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


